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�!��X(k+1) = AX(k) + BU(k); B = [B
1
 ; B

0
];

�(� Z
1
(k) = G[X(k)]; UT = [U

1
 ; U

2
];

�>� V(k) = CZ(k); C = [C
1
 ; C

0
]; ZT = [Z

1
 ; Z

2
];

�)� Y(k) = F[V(k)]; E(k) = T(k)-Y(k);

�2� A = block-diag (Ai), |Ai | < 1;

�&� W(k+1) = W(k) +η ΔW(k) + α ΔW
ij
(k-1);

�<� E
1
(k) = F’[Y(k)] E(k); F’[Y(k)] = [1-Y2(k)];

�?� ΔC(k) = E
1
(k) ZT(k);

�"� E
3
(k) = G’[Z(k)] E

2
(k); E

2
(k) = CT(k) E

1
(k);

�!'� ΔB(k) = E
3
(k) UT(k); G’[Z(k)] = [1-Z2(k)];
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* This paper is submitted for possible publication in
the journal “Information Technologies and Control”.
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�D(k) = I��
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���$����������
.��������!&������
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��������
��(A, B, C)������	
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���	��
	�
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�����
����	�������	�
���������
������
�����������=

�!<�� ( ) ( )1,[ ( )]ij i jDY C k D k Z k= 0

�!?�� ( )1, [ ( )]i i iD k F Y k′= 0

�!"�� ( ) ( )2,[ ( )]ij i jDY A k D k X k= 0

�('�� ( ) ( )2,[ ( )]ij i jDY B k D k U k= 0

�(!�� ( ) ( )2, 1,[ ( )]i i i i iD k G Z k C D k′= $

,

�P(k)������-�����������
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������
�������
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� ( ( � P ( k ) = α - 1 ( k ) { P ( k - 1 ) - P ( k - 1 ) Ω [ W ( k ) ]
                     S-1[W(k)]ΩT[W(k)]P(k-1)},

�

�
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�S(.)����	�Ω(.)�������
���
�
����
������������=

�(>� S[W(k)] = α(k)Λ(k) + ΩT[W(k)]P(k - 1)Ω[W(k)];

�()�� ρ
ρ

α

− − −

∇⎡ ⎤
Ω = ⎢ ⎥

⎢ ⎥⎣ ⎦
⎡ ⎤

Λ = ≤ ≤⎢ ⎥
⎢ ⎥⎣ ⎦

≤ ≤ ≤ ≤

,
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�(<���X(k+1) = AX(k) + BU(k); Y(k) = CX(k)$
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i=1

( 1) ( 1) ( - 1) ;  | | 1
P

i i
S k E k E k iγ γ+ = + + + <∑ �
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	����S(k+1) = 0$�����

������������-����������������	
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������-
A� ��� ������	��������� ��	� L>M� ��
���������� ����
�� ��� ����
���
	����

������-����	�����CB��������������������
������M����	
�

�����������
��X(k)� ��
������
� ������ ����
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�("�� ( )
1

( ) ( ) ( 1) ( 1)γ+

=

= − + + + − +⎡ ⎤
⎢ ⎥⎣ ⎦

∑
P

eq i
i

U k CB CAX k R k E k i 0

�>'�� ( ) ( ) ( ) ( )1[ ]
+ −=

T T
CB CB CB CB $
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�/���X
e
 (k+1) = A

e
X

e
 (k) + B

e
U(k)�

������X
e
 = [X

 
|V] T ���	���	�������������������������(L+N)�	��

+

⎡ ⎤ ⎡ ⎤
= =⎢ ⎥ ⎢ ⎥−−⎢ ⎥ ⎢ ⎥⎣ ⎦⎣ ⎦

$

,
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�>(��U(k) = - [B
e
 TP

e
(k)B

e 
+ R] -1[B

e
 TP

e
(k)B

e
] X

e
(k)�

�
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��

�P
e�
��������������� �
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�
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Pe(k+1)=Ae
T[Pe(k)-Pe(k)Be(Be

TPe(k)Be+R)-1Be
TPe(k)]Ae+Q$

,
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�0/6����
������	��
�������������
�����	
��� !)#�� ��
	
�����
	�����

�����������
.�������=

�>>�� ( )
1

1 1
1 1 1 1max '

1 1

, ,
s

X S
D X

t K X S
μ ε μ μ∂ = − =

∂ +

�>)�� �
( )

2

2

2 2
2 2 2 2 2

' 2
2 2

, ,
s

s
I

X S
D X

St
K X S

K

μ ε μ μ∂ = − =
∂ + +

�>2��

2
1 1 1

1 1 12 2
,zS E S S

D k X
t H z t

μ∂ ∂ ∂
= − −

∂ ∂ ∂

�>&��

2
2 2 2

2 1 12 2 ,zS E S S
D k X

t H z t
μ∂ ∂ ∂= − +

∂ ∂ ∂

�><�� ( ) ( ) ( ) ( )1, 1 2, 2
1 2, , ,0, 0,

1 1
in T in T T

eff

S t RS S t RS Q
S t S t R

R R DV

+ +
= = =

+ +

�>?�� ( ) ( )1 21, 0 , 1, 0 .
S S

t t
z z

∂ ∂
= =

∂ ∂

�>"�� ( )( ) ( )( )1 2
1 1 2 21, , 1, .T T T T

T T
T T

dS Q dS Q
S t S S t S

dt V dt V
= − = −
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